12 Jul 2012 (DOY 194)

GOES X-ray Flux

o X
2 N
o M N ————
2 P
o}
© B
A
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
. ESP 0-7 nm
£ 23f ]
> .
£ 15[ .
. i\ :
19
5 L S :
o
2 &ﬂ M
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
—~ m0|uw nm
< 281 =
~ E 3
= 21.9F =
£ 3 E
o 15.6F 3
(8] E =
C e 3
O 94F =
S E m 3
£ 3 et —— =S
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
N Fe XX 13.28 nm (log T=6.97)
t 0.05[ .
> - .
€ 003f .
g - ]
m 0.01 N u ]
o
g -o.01L N
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
. Fe XVIIl 9.39 nm (log T=6.81)
 0.020[ ]
> - .
€ 0.015F .
v C ]
g 0.010f .
Ee) { .
g 0.005€ [ .
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00

Time (UT)

Irradiance (mW/m?) Irradiance (mW/m?) Irradiance (mW/m?) Irradiance (mW/m?)

Irradiance (mW/m?)

Fe XVI 33.54 nm (log T=6.43)

0.087

0.073

0.060

0.047 ﬂ e e s

18:00

22:00

02:00

06:.00 10:00 14

00

Time (UT)

Fe XIV 21.13 nm (log T=6.27)

18:00

22:00

02:.00 06:00

0.038

0.036

0.034

0.032

18:00

22:00

02:00

06:.00 10:00 14

00

Time (UT)

Fe XIl 19.51 nm (log T=6.13)

18:00

22:00

02:.00 06:00

0.054

0.052

0.050

0.048

18:00

22:00

02:00

06:00 10:00 14:00
Time (UT)

Fe IX 17.11 nm (log T=5.81)

18:00

22:00

02:.00 06:00

0.058

0.056

0.054

0.052

18:00

22:00

Time (UT)

He Il 30.38 nm (log T=4.70)

02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00

0.783

0.717

0.650
0.583L T~ i

o

18:00

22:00

02:00

06:00 10:00 14:00
Time (UT)

18:00

22:00

02:.00 06:00



Time (UT)

NE ESP 0-7 nm
= 25: -
E/ 15 F \ =
¢ sE N 3
5 -sE E
g 18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
- Time (UT)
NE ESP 17.1 nm
> 0.83F =
E 078F — =
[ = - 3
© 0.73F == r e D S — =~
2 068E 3
g 18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
- Time (UT)
NE ESP 25.7 nm
> 0.60F =
£ o0s5E o~ =
§ 0.50 :T-haﬁﬁ—?—‘ \v—?‘s* =
2 045 =
g 18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
- Time (UT)
'E ESP 30.4 nm
= 1.2 = -
EaE e
[ - =
Q 1.0 - - N Y M—. Adha P
2 09k hd
g 18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
- Time (UT)
NE ESP 36.6 nm
> 1.25F
E o075k 2
$ o025 "
2 -0.25
g 18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
- Time (UT)
“g MEGS—P 121.6 nm
> 8.33F =
£ 807 B =
[ - =
0 7.80F - + Py g 7
0 SO 1N | et KIS KO s
g 18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00



E Fe XX 13.28 nm (log T=6.97)
> 0.05F =
E o003F =
[N - 3
¢ 0.01E — —
2 -0.01E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
'E Fe XVIIl 9.39 nm (log T=6.81)
> 0.020F A\ =
E 0.015F s
[ - 3
9 0.010 \\_
c = . J -
2 0.005E =
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
ks Fe XVI 36.08 nm (log T=6.43)
> 2.25F =
E 175E =
S 1255 =
2 0.75E -
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E Fe XVI 33.54 nm (log T=6.43)
> 0.087F =
E 0073F fJ\‘ ; =
[ - 3
9 0.060
0 = =
st R 3
S 0.047E ——— = S e
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
ks Fe XV 28.42 nm (log T=6.30)
> 0.10F =
\E’ 0.09 _M‘F :
[0} - -
© 0.08
= -
2 0.07E | 3
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
k= Si XIl 49.94 nm (log T=6.29)
= 0.0293F =
E 0.0267F y =
) - 3
O 0.0240 %3+ 5 am s -
'-é 0.0213E A T A P et ., FOSSe—
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E Fe XIV 21.13 nm (log T=6.27)
> 0.038 =
E 0.036 3
8 0.034 =
£ 0.032
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E Fe Xl 20.20 nm (log T=6.19)
= 0.050 =
E 0.048 8 3
[ - 3
© 0.046F | =
£ 0.044E
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00

Time (UT)



Fe XIl 19.51 nm (log T=6.13)

0.054
0.052

Irradiance (mW/m?)

0.050 F
0.048E
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
E Fe XI 18.04 nm (log T=6.07)
> 0.064
N e S B e
8 0.060F
2 0.058E
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E Mg X 62.49 nm (log T=6.05)
> 0.016F =
E 0.015F ' P S
o S LY N =
O 0.014 1 M [N Y * -
< - + ot F ¥ 1 ¥ »
2 0.013E ! * ¢ Yewmieny 3
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E Mg IX 36.81 nm (log T=5.99)
=
E
[0]
O
C
S : i
©
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E Fe X 17.72 nm (log T=5.99)
> 0.042 =
E 0041 B 3
8 0.040F
£ 0.039E
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E Ne VIl 77.04 nm (log T=5.81)
> 0.021F =
E o0.019F . =
o = L 413 N N 3 £, =
© 0.0V ¥+ ¢ L 2y m ¥ | Y * ¥ ToF
c - 4 + |} ¥ s ¥ 1 m
£ 0.015E ﬂ
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E Fe IX 17.11 nm (log T=5.81)
> 0.058 =
E 0.056 3
[} -
2 0.052
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
'E Ne VIl 46.52 nm (log T=5.71)
> 0.021F N 3
E 0.020F E
8 0.019F . L s ¥ =
2 0. - LI Ex Py ¥ k3 ¥ ¥ -
8 o0isEE e R EEENEEREK Yyt 3
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00

Time (UT)



Time (UT)

€ Fe VIl 13.12 nm (log T=5.57)
> 0.00470F =
E 0.00404 F =
8 0.00337F =
-2 0.00270 ww =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
“E O VI 103.19 nm (log T=5.47)
0.09F -
= c 3
E 0.08F =
[} - & 3
Q 0.07 E§ + ¢ * W - ;| e ¥ 1 ¢ 3 4 ¢ & v ra ¥ 4
2 0.06E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
'E OV 62.97 nm (log T=5.37)
0.060 F 3
= c 3
£ = ] =
:: 00585 ¥ 3 [y N * H £ # ¥ 5 I E
5 0.054C
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
£ O IV 79.02 nm (log T=5.19)
= 0.0207F =
E 0.0193F ; =
o - i -
O 0.0180 1 4 5 4 t 3 ‘ =
-§0.0167:t LIk Poslople | i|d o o 1 v P d e AR
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E O IV 55.44 nm (log T=5.19)
= 0.0297F =
E 0.0283F ; =
[} - =
9 0.0270F s y =
-§ o.0257E 2 * ¥ o |} Yordp 4 o [H 2 v o0 s 4 v F * ! s T
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
£ O Il 59.96 nm (log T=4.92)
= 0.0060F =
E 0.0055F =
8 0.0050F+—+—+%{* T'lhl!n $*s1*¢* N S A SR S *qu_i
< = 3
2 0.0045E 3
°
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
£ O Il 52.58 nm (log T=4.92)
> 0.0032F =
E 0.0030F =
[} - ¥ =
9 0.0028F s+ s 3 -
8 oottt Y[ . BB EEEEEEE PP el 3
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E C Il 97.70 nm (log T=4.84)
> 0.25F =
€ 0.20F i =
§ 0.153 PR Y S S/ S, tal o — s . ® i S SR A » 2 f.
2 0.10E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00



He Il 25.63 nm (log T=4.75)

Time (UT)

E
> 0.0525F N =
£ = y 3
E 0.0475F 7S =
S —
§ 0.0425 Mgﬁ-m g—?-—-vwﬂ
2 0.0375E | |
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
e He Il 30.38 nm (log T=4.70)
> 0.783F =
E — —
E o717 -
[ - =
o =—x ; o = ——
5 0.583C — ==
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
e O Il 71.85 nm (log T=4.48)
> 0.0028F T ¥ v
500026:§§I E — ; - tt; 11111
' E + i ¥ 4
8 0.0024F ! { i i 3 — kg f gt !
2 0.0022E *
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00
- Time (UT)
E He | 58.43 nm (log T=4.16)
> 0.080F 3
E 0075F & 3
8 0.070F e =
‘-5 .
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
€ H 1 102.57 nm (log T=3.84)
% 013: y =
E 012F -
et E & & t ¥ & 2 & 3
go’“:‘*""im'o**#ii*t*‘ et 3
2 0.10E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E H197.25 nm (log T=3.84)
2 0.0293F S
= 0.0267E " ] © . 3
9 0.0240 + « 4
g ¢ 1 ¢ . * ¥ EIE 3 5
8 oopset tH - B IEEEEEERE: Py R 3
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00



Irradiance (mW/m?)  Irradiance (mW/m?)  Irradiance (mW/m?)

Irradiance (mW/m?)

(mw/m?)

Irradiance

E AIA 94 Channel
3000 F =
= - p\_. -
E — —
S 2000 |- ]
[0} - =
2 1000 ‘Tﬁr—~ \ﬁ¥ a
o
5 0
g 18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
- Time (UT)
AlIA 131 Channel
1.5x10*F =
1.0x10*F \ =
5.Ox103_ﬁ—1ﬁrﬂﬁﬁﬁﬁﬁv _ﬁé
0
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
AIA 171 Channel
1.0x10°
9.5%10*
9.0x10*F
8.5x10*E
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
AlIA 193 Channel
1.6x10°F =
1.5x10°F N\ =
1.4x10° e e ""'F - Z 3
1.3x10°E - ==
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
AIA 211 Channel
6.5x10* =
6.0X10‘LJ 3
5.5x10*F \%-———‘a
5.0x10*E
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
AlA 304 Channel
2.93x10*F 3
2.67x10*F =
2.40x10*F ;,\ — -
e 2 S ) A
2.13x10*E
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
€ AlA 335 Channel
> 4833F
E 4167F
o) - F
© 3500 "
2 2533 EPTT AN L Mt s s e s s . st
g 18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00

Time (UT)



MEGS ESP 17.1 nm

£
> 0.88F =
R e — .~ =
o - == e Mg, =
0 0.78F Wb—&ﬁ;
c = —
2 0.72E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E MEGS ESP 25.7 nm
> 0.625F =
E 0575E '§L =
o - + S -
0 0.525 +
c =
£ 0475k Jﬂ
e 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
NE MEGS ESP 30.4 nm
= 1.2 = -
EE e
() - -
g ;,g E-—:ﬁo-f 7 s r_“rﬁr_“___m, \F-\%_M
2 0.
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00

Time (UT)

MEGS ESP 36.6 nm

Irradiance (mW/m?)

18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)



Time (UT)

“E MEGS—A1
= 0.91 -y -
E 078F =
[ - =
© 0.64F - \ =
2 0.51 . =
S 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:
- Time (UT)
“E MEGS—-A2
> 257F 3
E 243F =
[ - =
8 2.30MW =
2 217 + ! R T + -
S 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:
- Time (UT)
€ MEGS—-B Short
> 0475F =
£ 0.425F ’ =
§ 0.3753 * bl fean o o ¢ 2 o & 0+ & o & + Pt e 4 e, PR f
2 0.325E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:
- Time (UT)
€ MEGS—B Middle
> 027F =
- 5 =
£ 025E J =
2 o021k
S 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:
- Time (UT)
E MEGS-B Long
> 1.37F 3
E 123F =
8 1.10F ] 3
% 0.97 E e e LT Yy P Y i o+ s o # * M S B S !_;
S 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:

00

00



